Run 5891 quartetwise, posHQ: Beam DH
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Run 5891 quartetwise, negHO: Beam DIN
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-------- Histogram Vars

Positive Hel (ON): 16.027630 +/- 0.004701
Negative Hel (ON): 15.242291 +/- 0.004442
Positive Hel (OFF): 3.205104 +/- 0.001464
Negative Hel (OFF): 3.206010 +/- 0.001468

-------- Sums and Diffs

On Diff: 0.785338 +/- 0.001894

Off Diff: -0.000906 +/- 0.001574
On Sum: 31.269921 +/- 0.008949
Off Sum: 6.411113 +/- 0.002473
-------- Asymmetries
On Asym: 31.591951 +/- 0.077098 (ppt)
Off Asym: -0.036444 +/- -0.063312 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 24.858808 +/- 0.009284

BkSub Asym: 31.628396 +/- 0.099762 (ppt)




asym (AccO) / ppt

posHO

16

14

12

10

Run 5891 quartetwise, posHO vs time
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Run 5891 quartetwise, asymQ0sub vs time
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Run 5891 quartetwise, negHO vs time
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Run 5891 quartetwise, bcm vs time
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